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	Worksheet 1

1. Goods and Services

2. False
3. Capital costs are the costs associated with setting up a business or plant, while running costs are the continual costs associated with producing products.
4. Nuclear plants are very expensive to build but have lower running costs than fossil fuel plants.  This makes the total capital and running costs of a nuclear plant roughly equal to the costs of a fossil fuel plant.  
5. a.  Students should give a yes or no answer and then give an explanation for their reasoning.

      b.  Students should describe one of the   

      issues the current events brought up and 

      explain how their group decided to address   

      it.
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